20224 #1[6] ZE1HETRS

(R04.64(1) ZE#HEIN— VT 9—[E LS

%? 100m SR2 () 68 48 12:58
Eﬁffﬂ? =7
e _ B 02 2f :
||ﬁu1 [ ﬁmﬁﬁiﬁ Fr B ROER EP I Iz é,gmu E £ B gﬁi"w
4T3 jhg oy 1BSAC 10.77 6 ars WA EBO) ) : .
TH bEen {BEAC 11.19 ) 4 g4 PR BEFED e
3 61037 &R BHQ wmeas iR 14 = 11.95
ATHp 19 EHBEE 11.22 3 3 376 WE _ED e
4 31030 £ EBGQ) wmess vEh TH =1 11.97
9IH) 193 SEREE 11.34 4 7 o976 BE BAN) wee
5 7 367 HTF & (2) 7'/1'?7 ) = PN = 12.10
b Ly NES 11.52 5 2 7354 ABEZS &
6 g 7378 FIE FK 1932 9a8)3k FAC 12.10
5 s {B&AC 11.58 6 8 1036 BE ERQ) smeas
7 1105 BE_ BEN)  womae e 143 SHEEaS 12.23
7575 {otd ERRES .72 7 5 3g0 . FEN) e
o 7g4 MZ  EOD . S = 13.26
B wak R = DNS
K7 e
) S+ 4 4,
IE: - un” = = e 0 %
by P K B s EGED EPVT IR ﬁmu E £ 5 _E[--*O. V4
1 373 B/ 3 . o oE
THYE 39 {BI5AC 11.87 1 67301 SAE MR g
YEb 29 EHERRER 11.91 7 g ge3 AE HEQ wme
3 5 73gp SHEZRN Ty ot SHE= 12.51
5 29/28 {BFEAC 12.05 3 31047 BF_ BB smess
4 g 7037 BN BA " 3 1 =HRES Lt
vt H 57 ERREH 12.17 4 23 BB 2B g5
5 480172 38 HEQ g TR Wi S 12.87
9/ 14} LT 12.23 5 480161 BB TFHR)
6 2 o2g0 XE A X 1/ Ftn EfmEh 13.03
a5 5 4% B4 EXR—Y 12.36 6 780208 TH AR mem
7 61043 S BEN) g 5543 Y 2L e 13.28
134 197 ZHABER 12.64 5 80175 TH BKQ) g
540 v ISELY SmmEH DNS
B{I :‘ N - = M 6‘| it
WE b B B [ iz WYk I é,gm_ E % _ &m0 5
1 481056 R E&EE Z e vk
N 4k EEE—F 12.52 1 27380 BR 1222 .
o g gjq M BE(D g L {HRAC 13.92
179F 195 S 12.52 9 3 gogos STLE—BIN e
3 3 73gp B BE 11y BEALT 14.22
7 1 14 {HRAC 12.76 3 7 goig FRERXD)  mmpe
4 5eoigePH  HD  m vz B 14.50
ThES I 4 Sm® 12.81 4 6 o0y BE (D 24
5 6 off M BWEBEQ mme 7549 Ehb E— 14. 54
VYRS Sl 12.98 5 5at00s BF ERD  zpe
6 2 sioso A% K@) Y 553 s 15.48
4 M HiEE— 13.39 8 80166 quﬁﬁ TREE (2) =
7785 byt BED wmg DNS A B i T
™= —_
77l " 4 81292 3 205 BEET DNS
i by o B-+1.0
R |-y on - %EB%%HHU) OB SE v
1 288 i HiE 13.31
Hef HEN)
2 3 80203 gﬁ o g th 13.67
& Ex0)
3 7 818321;];; %5 WRH 13.78
i (2
4 481012 5% 5 ) Epm—dh i, 06
e B "
o g;n'f Y 1y EEY L 15. 64
£ mAM) o
6 8 81260 %M yhh B®Ed 15. 66
EE E#d "
75 e B RO A 16. 36

A (D %k ¥/ DNS:R B/ AT hOBBEFEHELL(TR17.2.2)



20224 F1[6 EFLETIRS (R04.64(1) ZE#HEIN—VE2I—E LS

%% 200m iR 68 4H 10:04
SRR & -3
BE b t- K & w R mix I

1 4soies B BEQ mmms 23,69

2 3 966 ZF, BEO  smy 24.20

3 5060 BF KO g o 24,5

4 71038 5% RO smpaw 25.15

5 61042 BE ARD  wmepan 25.19
BF 400m ER2 () 68 48 11:35
TRE 224

1#4 2%
B Ly t- K_4& R B8R AAvb B L t'- K4 R 8% b

14 973 FF BRD  wge 56. 84 15 o0 BE RO g 52.99

2 381221 ﬁ‘i, yER® pmme 58. 91 2 4 an BERERD) 54. 31

3 78131 N2, BED gy 1:00. 56 36 360 5 MABD 55. 54

4 5gion B BED  zpg 1:16.18 4 3 g BHRRRQD 58,73

6 g1225 £ BPD  pgge DQ *T2

A DO %k #/ T2 BYSTOAEL-VESNEE S (TRIT.3.1))



20224 #1[6] ZE1HETRS (R04.64(1) ZE#HEIN— VT 9—[E LS

%; 1500m 8= (2) 6R 48 11:15
iR 224
174 2
B ORD fon- B & 7R ol S B ORD fi- & A& R B
15 386 G BRM g 4:49 90 1137358 T B3 amac 4:01 44
2 1 s GR BB \em 4:51.60 2 86847 N2 KB gy zero TovoOA  4:19.32
3 61000 ZERETD mmpay 4:52.49 3107357 EE 2A mmac 4:20.90
4 13 o068 5101, BEC) mmye 4:54.33 4 3 964 A% RO mme 4:26.81
5 4ol ED emym 5:02.04 5 2 o178 WED  emy 4:20.54
6 14 381 B8 BRD g 5:04.18 6 9 218 BA BED  mmum 4:46.22
1 2am 20 BRM g 5:05. 62 712 915 B2 CHO wmy 4:47.89
8 12 27 BF BXD g 5:06.61 8 6o tF HAD g 4:49.45
o s B, B wmae 5:13.47 9 1 965 K BAD  wrmy 4:51.16
10 9 275 58 28D mmum 5:15.53 10 semEH B8O wmmp 5:04. 74
11 7o B8 RSN g 5:19.88 1 o1 oas J8 BED g 5:09. 40
12 10 80183 ;‘jg}’jw%ﬁ(” EEET 5:55.73 12 4 7396 fg,ﬁ_ mﬁ {BEAC DNF
13 11 81826 ;ht BN ms 5:58.26 7 1789 ﬁ M';EMD HER DNS
oo B, FEV gpgm DNS

SHUF] # [400m/B800m[1200m
5 80209 | 1040 | 386

SRR | M T3 934 385
o 948 7358 7358 | 7358
= 1:06 217 | 3:19

%? 5000m ks 6A 48 10:35
IR
Bt ORD tw'- K & B BOER vb

16 64 0B AR g 16:03. 57

2 46858 R BR g 7ero TovoOA 16:16.84

3 27307 BB EE g 16:47.37

4 1 36 BB FRD g 16:50. 05

5 3 365 BF ARD i gm 18:41.49

@ mme DNS

tH —i8

5 98 i g

S9vF] #  1000m/2000m[3000m 4000m
7397 364

0
s | 1M 3y g | 4 m

FLl (DNS: & 3B/ DNF S


Aki
テキストボックス
途中棄権


20224 F1[6 EFLETIRS (R04.64(1) ZE#HEIN—VE2I—E LS

By ESB 68 48 11:53
LERE Z1#

ﬁﬁ‘lji‘é‘i"m'- E %
G i
3 537 "ﬂ;’; "“ftﬂ*(‘) IEE - T T e o xxx 1m55
4 18m ;.;Hf
4812261%?-;1?&(3) AZsch XX x NN

hig HED aE
bl 7Y il DNS

m40 | 1m43 | Tm46 | Tm49 | 1mb2 | Tmb5 | 1m58 | 1m61 | 1m64 | 1m67 5%
1m70 | 1m73 | 1m75 | 1m78 "

3
o |

o
Q
o
[=]
[=]
[=]
[=]
o
[=]
o
—
3
&

N

|
(=]
>
o
>
(=]
>
>
o
x
>
>

1> 1|
|
|
|
|
|
|
|
o
b
x
Q
3
[=2]
-~
=R~ AE-AR-AK-]

B EiEd 68 48 10:00
LiRs E£1H

wel By R4 m OB | 1EE | 2EE8|3mE| 2% |0 1
1 348 r’\%;l? 3'1;%?(1) il +15T“255 +?r."gg +(5)r.“;2 +51"T165 Q
w8 B0 a0 | g

4 sezBB BEO) Inmmm x | w18l nd4l An94q.ro
o B, 0 e | ] ]

FLBI (NM :ZEgR7 L/ DNS:R 15/ +F2: 2 B E A REER)



20224 #1[6] ZE1HETRS (R04.64(1) ZE#HEIN— VT 9—[E LS

%? ﬁﬂ;ﬂ&h (6. OOOkg) RE: 68 48 10:00
iRE £1H

mffgw— E % R | 1EB | 288 | 3EE | & |0 vt

|1 AR ME® s om86| 9m46 10m12 10m12 @

2 3 gt RO om59| Omd5| 9m47 9m59 |Q

3 2 mEEEELD amyg om52| x| oma9 9m52|Q

4 4 s/l BEO ey Ami1| 4m29| 4m12 4m29 |Q

B¥F faiix (5. 000kg)
e 2

el o1 K& OB | 1EE| 268 | 3EH| 28 [0 1
1 3310523'/%5;15 f;*“) BE%— | 11m59| 1m71] 12m19] 12m19 |Q
9 9l81227 ,ﬁ;}ﬁulg%ﬁw) BE®Eh 9mb1| 9mbb| 8m74| 9mb5|Q
3 181223 Eﬁ /?;#‘ &) HES®EHh 8m09| 7m93 Tm74| 8m09 |Q
B+ ©YE(0.800kg) WA tH 1
iR =1#
R OB | 1EB | 268 | 3EE | @6k |0 v
i3 mBE BED amug x | 42m03) 42m03 |0
BE AEQ) -
3 5 274 g’%’ ﬁggm AL 41m36 A1m36 | 0
3 4 368;‘;5{ *_%;(1) j\]ﬁ% X 37/m12| 37m12|Q
H =
4 6 385 2;: F . NEE x 33m50| 33m50 | 0
IE='= =
5 2 278 %’g Zég(m NEE 26m45| 26m45
§ 1 3005 % NES x 20m88| 20m88




2022%F #1[F ZELELRS
IRE (R04.64(1) ZE#HEIN— VT 9—[E LS

XF 100m W82 6) 68 48 12:29
EE%?A 26/
o ek a1 8 2,
Ef: L=y Fon - = St L M i -
1” j5 ;1224 EE%EE(S) fr B R PV IEfE Iégf)i\‘— E & R g‘ﬁiﬂ .
5244 19) BER 13.14 1 5 ggg =H_FE() mme R B
2 3 262 INEHiEHZ 7/ 3% =l ) 13.58
0% 1t {B%AC 13.28 2 6 357 BH&EMYD) b
3 4 350 FE AR - L5 7HY INEER 13.71
75 bfh INEER 13.30 3 3 356 KW BFQ@ g
4 6 354 BEBAEQ) i THT $31 NEER 13.85
{75 FEn INER 13.56 4 2gpER FFQ g
5 gl BEQR 4+h a3 SEP 13.99
3t Y/ EEFE—H 13. 81 5 g2z B ERQ)  mp
6 2 353 Bl BEQ - ¥ /Y3 SR H 14.09
AT 2 NER 14.05 6 7801 PH BN wmey
7 g9 IH BHQ) - b SEALR 14.16
N oon NER DNS 7 4 35g WA BRI -
n 1 NES
Py YEb Ut 14.34
B T ) 4
IEfE 4 Yn = = s £ , -
11’_’7 ;0183 ;%7](%037:;(2) s iR b It é?mn E % T OB E/-flﬁ""a / X
b3 It BREET 14. 01 | 5aps® RERG) o o A
o 4 g2 BF EEQ) i n it RS 14.56
“uh3 I BEEH 14.38 9 3 gro7o MNEFHIER(3)
3§ 80230 IMEBELNN) 1) 14y EEE—H 14.76
' TH R 14.64 3 2 goo ARBAFLN)  eme
4 8 81226 s EEQ) i 9K 4 TY == 14.717
T/ Pk HmE®H 14.65 4 7 sioa BRAIMQ) £
5 6 gio3s i Fa@ g= nvEh 3/h HEA—F 15.10
543 )y HE®EH 14. 67 5 ¢gojos BH WEN)
6 3s8igigLt BEQ 4=0"F 1y Efms$ 15.10
L3h3 tHY HE 14.74 6 480236 WE FRM)  mpy
2 sotg5 AH BEQ g w n L 15.12
£43 {00 SmmEh DNS 7 g goozy B ER() g
544 ISR SRAL 15.41
W S & +1. 5 6;
B |-y $on' - 5 e L oe s L .
1»;1 gﬁ'ﬁ% =) R W& e ﬁ‘f""- K & iR @TM
1021 235 744 LRREH 14.80 o giase MU BB S A Tk
9 3 949 kH HZ 4T 4 BEES 14.51
443 {BRRAC 14.82 ) o Bl B g=
3 4 gof MEHIF(D) g N 08 CELS 15.42
IV RL) Shl= 15.04 3 3ais3RE B g
4 8 g5 EALBZ a5 74 HERH 15.60
WA {71 {BERAC 15.65 4 7y ABE BN g
5 7 sopz BAE KM 1 %29 L 15.83
e 1 SR 16. 64 5 4883 TH RRO  grem
6 60197 A%, EE() g 7w 16.02
Egﬂ]. ) E/mES 16.76 6 636 ?ﬁfﬁ’;a—rm — i
FAHEH() s Y 3 =
7 2 80195 oy BT = EAEth 17.76

JLB (DNS: " 15



20224 #1[6] ZE1HETRS

(R04.64(1) ZE#HEIN— VT 9—[E LS

ZF 200m

FCERE
e

{ §1008 5 200
2 6 630 % R
3 aspallh mEd
4 7w D
5 &g Pl
6
7

AW BEQ
2 81235 9F 4on

X+ 400m

FLERE
B - %
1 5 255 HMALEM
2 4
BB #%Q)
3 6 3 GE.
3

EE fEd)
363 oy ont

H
E
ob
it

m m m ke
o
W
B

it
B
B

(]
{BFEAC
NEE
NEE=
NER

&0 7

FO &%
21.94

21.96
29.47
30.54
30.78
32.12
32.49

Jfub

P

DNS

iz 6F 48 10:00

k= 6A 48 11:30

FLBI (DNS: & 3&)



20224 #1[6] ZE1HETRS

(R04.64(1) ZE#HEIN— VT 9—[E LS

ZF 1500m

TERE .
B ORD - B & R = vk
14 30 BH RED gy 5:41.43
2 1 364 g),ﬁ”jfﬁ“) NER 5:50. 11
i3 812551%;?? ﬂﬁ“) AR 6:14. 67
2 982 ;‘;Uﬁs“}gﬁim ] DNS
SR #1  400m|/800m 1200m
N 360 360 360
RER | M (g 3:06  4:42
ZLF 3000m
FOIRE
W ORD - B & TR 2 vk
12 1018 B ,*E(z) EHREE 11:45. 48
2 1 355 ,ﬁ;ﬂ ?ﬁ,ﬁ@ NES 12:43.95
SovE # 1000m[2000m

fiék% 6R 48 11:03

8= 68 4R 10:15

A& DNS: R 1)



20224 #F1[6] ZF1ERS (R04.64(1) ZE#HEIN— VT 9—[E LS
t; i%ﬁﬁ i0fk= 6R 48 10:55
iR =1#H
f%m- E £ B B | m0| tmi3 | m16 | 1m19 | 1m22 | 1m25 | 1m28 | 1m31 | 1m34 | 1m37 | £2&% Q| 2Avh

1 4 989”4?3 ;:5(]) L - - - [} 0 0 [} 0 0 X xix| 1m34 |Q

2 1362";‘Ba &% (1) NES - 0 0 4} 0 0 Xi0i |xioi |0 X xi x| 1m34 |Q

32987ﬁ;$ %’-Em LEE - - - - 0 0 0 X 0 |xixoxxix| 1m34 (Q

4 3| 361 gﬁ f*(ﬂ NES X xiolo [} [} X! XX ml19 |Q

5 581241 ’ﬁhﬁ%ﬁt@ AE®Ed 0 0 X Xi0|Xi0oi [XiXiX ml9 @

— = A "

ﬁ? illlﬁﬂt iciEkE 64 48 10:00
iR =Z21#
.amJigm—- E £ i B | 1EB | 2E8 3EA| #8& |0 1t

1 21231 %ﬁ _;_9&(2) BE s x +11lr.n84 +gm§0 +¢}Jm250 0

2 331231%{3'125,‘?(2) A o N +;1m25 +tl1mq45 Q

g, 2R e | 5 | o

}’I? Eﬂiﬂ’g (2_ 721kg) iLfgk= 6A 48 10:00
FiRR =£IH
e R & om | 1EE| 258 | 3EE| 26 0 1

i 5810785';‘1”7 Q) \zpgwm g x | 8ml5 7m46| 8mi5

2 apn AE EBO ngym 6m6| 6m80| 7m53| 7m53

3 381240;'51}# Ufﬁ?@) BEEH 6m68| 6m6%| Tm34| Tm34

4 TposH XBO lmpgom  enr2 oms5| 6m21] 6n72

5 gunSH BEG g 6md6| 6m66  x | Gm66

6 1[si2as fﬁ;ﬁnﬂgﬁm BEEH 5m79| x | 6m65| 6m65

7 21073 ﬂ-ﬁ ,ﬁﬂgﬂs) EEFE—H 5mb8| 4m65| 6mb4| 6mb4

HEEASH Q)
eao1s7l7ﬂ, 267 ZEFgs DNS

ﬁ? ;(_, U & (0_ 600kg) iR 6H 49 11:25
FERE =214

R MOR | 1EE|2E8 3EEB| =% |0 vt

1| 1] 350 %)—‘g%ﬂ‘i @ hEs 33m97 33m97

2 2 oipd FRBO) lwme 24m66 24m66

JFLfEl (DNS: B/ #F2: 2 EALRER)



